O\/\ tho QV‘-IQVI ‘{/‘ %\/p\\r]‘t\J mnd JcN Qo\\/«f‘_
Newton | SHEP DQ—&ZB\I) DZ?

\ o ! <
g VIoLot-71 o 3R BT WERIR

5 3z¢.

zozz,//z [0
Lt Suer



« 1Pu )

]

[7 % mivvos e covrdimdle 1 Do W W pi
. )
HOLP): Heowiaton rn ‘S‘o\/ “ (/MQW \r= (7
UlE A = &QP § (HolD)—E ) - & (Sy —%)
‘% (2-1? ok E'.éw\’Qrm\\‘['orP
_ ﬁ@elp)-’pln)
2= 4P €7 o)
AR ng 5 (HOLP)—E)BAX S(on=L

AS\
s - S
g&f dx @ Nadiis B

[ry=0
(5.27 o Hogy o #si? =0 7¢)
1) fived
| Fo * 4327

(VV\.IC/V‘DCC\_,VLO\!HLL\Q 8,\rz5emue (t)
dR = VA\: + \"eldl
(2.3) 17 223

=
- L g\_LO
Qo he = DR /Byt & 5 4L = O)



M cro canons (e ensemlde

Crth E1‘”‘1 T 'f?\cpd)
~ x3 % (3 332 0

w2 ll (P12 Hy @) b = Eeay ® +3¢
R - *{'}x
Pl+)= SQP S ( H&P?*-\T\lw—&ﬂ\) $ (o =)

SZ ( Bt 5’!)
/_.

§ (HotP) - v ﬁﬂf)) § (x4 )

(B ) 5&’ (totP) — (Eens

— (
JﬁEfbﬂf" _SLEH+R2L,1 7

— ondy e 5

—
G

S (EwtRe,2)

7 L IZ:F‘M 2 gg/?@l@l? ﬁi SLEMI—PFLX):O
\/\/\/\/WV\'
(2-4)X 3 %f$7\1 o LATLZ

/20 oA O



